



St. Louis County, Minnesota

Date of Report: 9/20/2025 3:29:15 PM

**General Details** 

 Parcel ID:
 280-0031-00170

 Document:
 Abstract - 856774

 Document Date:
 05/03/2002

**Legal Description Details** 

Plat Name: CANOSIA

Section Township Range Lot Block

4 51 15

**Description:** SW 1/4 OF SW 1/4 EX S 645 FT OF W 250 FT

Taxpayer Details

Taxpayer Name ABRAHAMSON ELDO E & JEAN A

and Address: 4710 UGSTAD RD

DULUTH MN 55811

**Owner Details** 

Owner Name ABRAHAMSON ELDO E JR
Owner Name ABRAHAMSON MICHAEL A

Payable 2025 Tax Summary

2025 - Net Tax \$3,007.00

2025 - Special Assessments \$29.00

2025 - Total Tax & Special Assessments \$3,036.00

**Current Tax Due (as of 9/19/2025)** 

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$1,518.00	2025 - 2nd Half Tax	\$1,518.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$1,518.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$1,518.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$1,518.00	2025 - Total Due	\$1,518.00	

**Parcel Details** 

Property Address: 4710 UGSTAD RD, DULUTH MN

School District: 700
Tax Increment District: -

Property/Homesteader: ABRAHAMSON, ELDO E JR

	Assessment Details (2025 Payable 2026)										
Class Code (Legend)											
201	2 - Owner/Relative Homestead (100.00% total)	\$118,200	\$169,000	\$287,200	\$0	\$0	-				
111	0 - Non Homestead	\$60,400	\$0	\$60,400	\$0	\$0	-				
Total:		\$178,600	\$169,000	\$347,600	\$0	\$0	3268				





St. Louis County, Minnesota

Date of Report: 9/20/2025 3:29:15 PM

**Land Details** 

 Deeded Acres:
 36.30

 Waterfront:

 Water Front Feet:
 0.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc: -

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

 Lot Width:
 0.00

 Lot Depth:
 0.00

The dimensions shown are not guaranteed to be survey quality. Additional lot information can be found at

https://apps.stlouiscountymn.gov/webPlatsIframe/frmPlatStatPopUp.aspx. If there are any questions, please email PropertyTax@stlouiscountymn.gov.

improvement 1	Details	(RESIDENCE)

Impr	ovement Type	pe Year Built		Main Floor Ft 2 Gros		Basement Finish	Style Code & Desc.	
	HOUSE	1975	79	)2	792	AVG Quality / 600 Ft <sup>2</sup>	SE - SPLT ENTRY	
	Segment	Story	Width	Length	Area	Foundation	on	
	BAS	1		24	192	FOUNDAT	ION	
	BAS	1	24	25	600	BASEME	NT	
	Bath Count	Bedroom Co	ount	Room (	Count	Fireplace Count	HVAC	

Bath CountBedroom CountRoom CountFireplace CountHVAC1.25 BATHS--0C&AIR\_COND, GAS

#### Improvement 2 Details (SHED ROOF)

Improvement Type		Year Built	Main Floor Ft <sup>2</sup>		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
GARAGE		1975	990	0	990	-	DETACHED
	Segment	Story	Width	Length	Area	Foundation	
	BAS	1	22	25	550	FLOATING SLAB	
	WIG	1	22	20	440	FLOATING	SLAB

## Improvement 3 Details (BARN)

Improvement Type		ment Type Year Built		oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.	
	BARN	1920	1,06	62	1,724	-	-	
	Segment	Story	Width	Length	Area	Foundat	ion	
	BAS	1	15	12	180	FLOATING	SLAB	
	BAS	1.7	21	42	882	FLOATING	SLAB	
	LT	1	17	42	714	FLOATING	SLAB	

## Improvement 4 Details (OLD GARAGE)

I	mprovement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
S	TORAGE BUILDING	1920	50	6	506	-	-
	Segment	Story	Width	Length	Area	Foundat	ion
	BAS	1	22	23	506	POST ON GR	ROUND

## Improvement 5 Details (SCRN HOUSE)

I	mprovement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
	SCREEN HOUSE	2006	100	0	100	-	-
	Segment	Story	Width	Length	Area	Foundat	ion
	BAS	1	10	10	100	POST ON GF	ROUND





St. Louis County, Minnesota

Date of Report: 9/20/2025 3:29:15 PM

					Date of Rep	ort. 9/20	)/2025 3:29:15 P
		Improver	ment 6 Details	(10X10 ST)			
Improvement Ty	pe Year Buil	Area Ft <sup>2</sup> Bas	ement Finish	St	yle Code & Desc.		
STORAGE BUILD	NG 0	10	0	100	-		-
Segm		•	Length	Area	Found		
BAS	3 0	10	10	100	POST ON (	GROUNE	)
		Improv	ement 7 Details	(PATIO)			
Improvement Ty	pe Year Buil	t Main Flo	oor Ft <sup>2</sup> Gross	Area Ft <sup>2</sup> Bas	ement Finish	St	yle Code & Desc.
	0	22	0 :	220	-	Р	LN - PLAIN SLAB
Segm	ent Sto	ry Width	Length	Area	Found	ation	
BAS	0	10	22	220	-		
		Sales Reported	to the St. Loui	s County Audito	r		
No Sales informa	ation reported.						
		A:	ssessment His	orv			
	Class			,	Def	De	f
Year	Code (Legend)	Land EMV	Bldg EMV	Total EMV	Land EMV	Bld EM	
T Cui	201	\$116,200	\$163,700	\$279,900	\$0	\$0	<del></del>
2024 Payable 2025	111	\$59,200	\$0	\$59,200	\$0	\$0	
20211 dyd2io 2020	Tota	I \$175,400	\$163,700	\$339,100	\$0	\$0	3,178.00
	201	\$105,700	\$163,700	\$269,400	\$0	\$0	) -
2023 Payable 2024	111	\$53,500	\$0	\$53,500	\$0	\$0	-
·	Tota	l \$159,200	\$163,700	\$322,900	\$0	\$0	3,099.00
	201	\$100,800	\$142,500	\$243,300	\$0	\$0	) -
2022 Payable 2023	111	\$50,800	\$0	\$50,800	\$0	\$0	-
,	Tota	I \$151,600	\$142,500	\$294,100	\$0	\$0	2,788.00
	201	\$48,800	\$142,000	\$190,800	\$0	\$0	-
2021 Payable 2022	111	\$61,900	\$0	\$61,900	\$0	\$0	-
	Tota	I \$110,700	\$142,000	\$252,700	\$0	\$0	2,327.00
		1	Tax Detail Histo	ory			
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Bui	ilding	Total Taxable MV
2024	\$2,991.00	\$25.00	\$3,016.00	\$154,102	\$155,80	)4	\$309,906
2023	\$2,911.00	\$25.00	\$2,936.00	\$145,243	\$133,51		\$278,757

2022

\$2,691.00

\$25.00

\$2,716.00

\$105,567

\$127,065

\$232,632





St. Louis County, Minnesota

Date of Report: 9/20/2025 3:29:15 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.